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TAX IN INDIA
This is a report on the difficulties face by the Indian government in trying to collect sufficient tax from its citizens. The reporter is of Indian descent but brought up in Britain so speaks with a British accent. The accountant speaks with quite a strong Indian accent and makes one or two grammatical mistakes.
TASK 1
Watch the video and answer the following questions without looking at the transcript:
1. What is the population of India?
2. How many people in India pay income tax?
3. What percentage is that out of the total population?

4. What percentage of the population make a living from agriculture.

5. How much was collected in income tax in India last year?

6. What is the accountant’s estimate of the amount of evasion in India? 

TASK 2

Watch the video again and fill in the missing words.
They’re three letters which are ___________ feared but, as the saying goes, like death, taxes are inevitable. Perhaps not as inevitable as you might think here in India, where a very tiny percentage of the population pays any, but _____________ revenue through taxes is seen as one way which could help the government plug its budget deficit.

India’s ______________ stands at 1.2 billion, yet estimates suggest that only 35 million people pay income tax. That’s only three per cent of the population. So, why the gap?

`Well, in India we have __________ a tax system which gives an exemption to the agricultural income. Seventy per cent of the Indians are agriculturalists, and if that be the case seventy per cent of the people go out of the tax net.  And the government of India has no desire or will to touch them - none of the political parties, because they know the moment they touch this holy cow, they will be losing __________.’ 
In the past year 230 billion dollars was collected in tax in India. Of that, 85 billion was income tax but the lion’s share was indirect tax at $144 billion.

But getting people to pay tax here isn’t always easy. A lot of people are paid cash-in-hand, which means their tax isn’t automatically deducted at source. 

`The recipient of the service pay in cash and the cash collected is never ___________. How do you bring them into the service tax. The number of service providers which are brought under the tax net are not adequate. In metropolitan cities are only a few service providers which have been registered. In smaller towns and smaller cities the service providers are not registered at all.’ 
Authorities in India have come up with novel ways to name and __________ tax evaders. In Bangalore, official have started sending druming bands to properties where tax isn’t being paid to hit the message home. And in other parts of India eunuchs have been _____________  as tax collectors. In Bihar, large quantities of rubbish were dumped outside a shopping complex where tax wasn’t being paid, causing quite a stink. Tax evasion’s a hugr problem in India, costing the government billions of dollars.

`Evasion in this country on account of the income tax could be __________ around $100 billion per annum.’
Making the right catch is important for the fishermen here and the same could be said for the Indian tax authorities. With evasion so high and payments so low, even with the introduction of electronic filing for tax returns, many here believe more needs to be done when it comes to catching and __________.
TASK 3

Match the following words with their meanings
1. inevitable




guess how much
2. plug





new, strange
3. budget





something that is given unreasonably high respect 

4. deficit.





a man whose body has been deliberately damaged so 







that he cannot have sex
5. estimate





someone who receives something
6. exemption




take away from the original amount
7. agriculturalist



sufficient
8. holy cow,




report officially (e.g. to a tax office or to a court)
9. lion’s share




include on an official list
10. indirect tax 




throw away (especially when this is done in an 








improper place)
11. automatically



the people in charge of a region or country 
12. deduct





the largest part
13. recipient



    without anyone needing to take deliberate action
14. adequate




someone who deliberately avoids doing or meeting 







someone or something
15. register




a large collection of buildings or rooms joined together.
16. authorities




gap between income and money which must be spent
17. novel





fill a hole to stop something leaking out
18. evader





deliberately avoiding doing or meeting someone or 







something
19. eunuch




tax which is paid as part of something else (e.g. 








included in the price of something bought in a shop)
20. dump





that cannot be avoided
21. complex




plan for spending money
22. stink





allowing someone not to follow a rule that applies to 







others
23. evasion




farmer
24. file (verb)




unpleasant smell
TASK 4
Now answer the following questions:
1. What are the TWO main reason why the government of India does not receive much money from income tax?

2. Give some examples of `service providers’. Why is it difficult to keep a record of how much money they are paid by their customers?
3. Give THREE examples of ways in which the Indian authorities try to put pressure on people who are not paying their taxes.

4. How does the tax system in Hong Kong work? Are there any similar problems here?
